N

’@(z;’-

4 1 7 1 4 . g€ 58 T
3 || 1 -2-1T |vo [0 g -2 29
3-' 0*‘7 24 000”

[5—34/- ~Tad, 4)/ Aet

(PSRN

3=/
= -1+ 24
L,- S

-—4;- Z;\,%/ﬂr/ <
O LL_M-{)(&»/)%%ﬁ :‘&?

x~10 el

1

b A0 . g

i
x0T 8

Y10

oy méx\%y (%’;«»

Yor00 - 2

(3) fra=y" 85ty 5x% 1 veddy 3>

Jlv) = 3x'- 206+ et Jioh
O/= ; 5o
5‘)(2-()(2.'4%_{3):0 /{4/ I"Z ¥ M, ~ 757
N )
€29 LI
¥ 37 Zl-2)=-81
Y=

@ %/4\’): A Xl'fw'l47 /;/‘Y r;—-—-?v\ > 2 ! '/ZP-rM{""a
Ly i bx Yt 205y
A
A/y)" YM\’: @ A//J’/: er‘ (’Mr./xwwx, ';"( .)

y-t" F y ol |
yAE Ty Llx), é&”* x-03) ool (3]~ k-t e 7
J szfx«/




@ //’/)“@ Z{{ ’»N//: /‘“/ Z)U/Z/%/ ,
) i 1
fhle g7 (= )

(x-2)*
" = 5 2 A
//J():g ”"—.((:;:Z)-féxz 2 -&Zii 7+ (v2)
(vef> ) 7;2)5\"'
,//*;4:1 L =3
(k-2)f
)
/”/4’7!0 = k=;3_ ¥ L('”/L)l 2 / (Z/Z‘)/ (L,o.)
£ / ~ o f

@ /;470)‘ Ir'- X4 Ity éz

: 5)(7‘.6274/),:0 & 4”[&(0]
A, Zy(7-x)=0 e
o by ~ R 10y p; A ’14[3;/'0]
_2_/__ ~);.29--f23 zé:o = 43[4} Q
99 bx A 350 64" 1050 4y [4;'93
Le(3xes)s 0 876
L0 L
Kz e
9y g
5;; = AL x+70 ) /'f&t-ﬂo -2
L o 2
5 i o /- 2 /4,,,;)/¢.,,), (2)
91 - ‘ZY'YZ
Dy (4= ¢.5.7-0 50 2 el /.% At tn o
4

<. N /4”]:{'”)(3[)” i g b,
%)
x Dy (4,)= ’&('49}-‘0—%49 M 5 e



@ Tinlx)s /-tho).w (szwfj:-th ADy - 11
1Y)+ ~7ox 4 @0

~7x +40<0
=9

—




